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GCSE Mathematics
Practice Tests: Set 5

Paper 2H (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Solutlb”g

Instructions

¢ Use black ink or ball-point pen.
e Fillin the boxes at the top of this page with your name,
centre number and candidate number.
¢ Answer all questions.
« Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators may be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
¢ You must show all your working out.

Information

¢ The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
» Read each question carefully before you start to answer it.
+ Keep an eye on the time.
¢ Tryto answer every question.
» Check your answers if you have time at the end.

Practice Tests: Set 5 Regular (2H) — Version 1.0

This publication may only be reproduced in accordance with Pearson Education Limited copyright policy.
©2016 Pearson Education Limited.



2.

Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

Change 4.5 km? to m?.

2
4.5 x 1000

..............................................

2
(Total 4 marks)

Carol and Delia share some money in the ratio 3 : 8
Delia gets £325 more than Carol gets.

Work out how much Carol gets.

De'la ¥ SLA/Cf
Cﬁlo' 3 SL’“lef

so § shases = £329¢

| ¢hare = f_3_2_r _—_{éS'
<
Ck/o| ‘02,11 3’( f"( . Iqs-
:f'qr .........................

(Total 2 marks)
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3.

One day Sadie and Gohil both buy petrol and oil from the same petrol station.

Sadie buys 30 litres of petrol and 4 litres of oil.
Sadie pays a total £46.00

Gohil buys 24 litres of petrol and 8 litres of oil.
Gohil pays a total of £45.20

Petrsl P
Ol 7/

Find the cost of one litre of petrol and the cost of one litre of oil.

30'0 + 4_1/ — 4é.OO
24p + 84 = 4§.20

(2 cop +81{ = d42.00

®-® 3%p = 4¢3
p = 4C.8
b
Pz 1.3
Sob s P -~ @

0,
®
®

30(1.3) +44 = 46.08

34 +44 < 4 6.00
4@ 744.00“3ﬁ

449 = 7
1 7%
1 [ -7¢
p=Zl130
GL: fl'-’( Petrol £..... I,SO ..............................
L

(Total 5 marks)
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4.  The diagram shows 3 sides of a regular polygon.

Diagram NOT
accurately drawn

36° 1500 150°

Each interior angle of the regular polygon is 150°.

Work out the number of sides of the regular polygon.
E*'E{J)or ‘U’\stt, = /gO—IIA = %0

360

% | Z

..............................................................

(Total 3 marks)
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Viv wants to invest £2000 for 2 years in the same bank.

The International Bank The Friendly Bank
Compound Interest Compound Interest
4% for the first year 5% for the first year

1% for each extra year 0.5% for each extra year

At the end of 2 years, Viv wants to have as much money as possible.

Which bank should she invest her £2000 in?

2000 X |.04 %X |.0] 2000 X l.05 X |.o0%

= £2100.%0 = £2110.85

Ffl‘c—../ ‘t\ @«nk

gives ng'&fd redtorn

Se )nv-c.\(‘ Ae/e

(Total 4 marks)
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6.

Malcolm knows he eats too many biscuits.
He wants to eat less than 30 biscuits a week.

On Monday, Malcolm ate some biscuits.

On Tuesday, he ate half as many biscuits as on Monday.

On Wednesday, he ate five biscuits less than on Tuesday.

On Thursday, he ate 9 biscuits.
On Friday, Saturday and Sunday he ate no biscuits.

Malcolm ate less than 30 biscuits from Monday to Sunday.

What is the biggest number of biscuits Malcolm could have eaten on Monday?

L et Melealm et x O©Ohn Hondaj
Maw o
Tue 2t
2
We # X =5
y A
Thy 9
X424 Lo wh < 30
2 2
2% t+4 <30
2x £ 38 -4
2% & 2k
-4 26
A
X <13

% 1§ an 1nkeges fo max

........................................

-
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7.  In a sale the normal price of a book is reduced by 10%.
The sale price of the book is £4.86

Calculate the normal price of the book.

Nermal x 6.9 = Sale Prio

Matrmal| £ - Sule Flite
X

l\)o/mh' = "%4—._' __gé = fS’.AFO
-9

..........................................

(Total 3 marks)
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There are 80 singers in a choir.
The cumulative frequency table gives information about the ages of the 80 singers.

Age (A) in years Cumulative frequency
20<A4<30 2
20<A4 <40 15
20<4 <50 30
20<A4<60 52
20<4 <70 80

(a) On the grid opposite, draw a cumulative frequency graph for this information.
@
(b) Use your cumulative frequency graph to find an estimate for

(1) the median age,

(ii) the interquartile range.
- @3 - Q [
63— 43
= 20 2.0

1\

(c) Find an estimate for the number of singers over 63 years old.
ct v g b 63 s 6O

—_—

o ove L3 1< 80-6o = 1o

..............................................
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80

=

70

50

Cumulative

frequency

40

30

20

10

30

4()Q

’
S
Age (A) in years

60 \y
Q1

70

80

(Total 7 marks)
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9.

A rectangular lawn has a length of 3x metres and a width of 2x metres.

The lawn has a path of width 1 metre on three of its sides.

The total area of the lawn and the path is 100 m?

(a) Show that 6x*> + 7x—98 =0
(31*1)(2:(—}») = 160
Lx! +4x +3+2 = |00
Ly +5L +2 —106 =0
bx? +7x — 98 =0

(b) Calculate the area of the lawn.
Show clear algebraic working.

= 7 X7 - 4xlx(-43)

¥ €
2xb
x = -1%(49+2352
2.
x = =1%¥449
12
= = ﬂ of X = =
| 2 12
not
x = 3.8 rc';cw.i’

Diagram NOT
accurately drawn

@

Area of lawn
= Sx x 22
Lot
{x3.S
73.6 o

1

M

\

(Total 7 marks)
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10. Here is a shape.
Diagram NOT

accurately drawn

B C
5cm
B
A
BPC is a semicircle.
ABC is aright-angled triangle.
BC=8cm.
AB=35cm.
Work out the perimeter of the shape.
Give your answer correct to 3 significant figures.
i !
At =8 -8 = 34
Ac = 12 = 6.245 bt 4 st
Ace BPC = 217 _ T = TTx 4 = 12.5¢¢ b § 8.€
> -~
Pecimeber = 6.245 4+ 12,566 +S = Z3.8M em
= 23.8¢~
23.8

..............................................................

 3s €

(Total 5 marks)
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11.

Laura is raising money for charity.

She has a game with two sets of cards.

SetA | 1 3 5 6 7

SetB | 2 Rl 8 9

80 students are each going to play Laura’s game once.

Each student takes at random one card from each set of cards.
They add the two numbers to get a total score.

Each student pays 70p to play the game.
Laura pays £3 to any student getting a total score of 9.

Show that Laura can expect to make a profit of £20.
You must show all your working.

-

Ny Sar ot lDoiituC F‘\.lff = 5-;(4. = &l

\'\)'.nh';‘S Payss (“?) (5,4) (7/2)

Probakilry oo §+cha1A win{ = 'z/p

Ex(ch';r( nomber o-f W;"H'—A - goxzz'o = 12

E;\'oecl’d‘ +‘O f&s ou(' ‘2 X £3 = i'Sé

T_AL\‘V\SI —pro»\ j"‘uul(.\k = YO X 70,0 = %S_é

Eﬂﬂib"“/ Proﬂc:é‘ - £S‘6 "{3@ — £20

(Total 5 marks)
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12.  (a) x=9 x 10", where m is an integer.

Find, in standard form, an expression for Vx.
™

CSXIO'“)(Bx)O”‘> -~ QXJOZ

n
3 x10
(09
(b) y=9 x 10", where n is an integer.
Find, in standard form, an expression for y;
Give your answer as simply as possible.
3y ‘ +
> F 3%
= 3 % ~/3
2n n
= 9Qx 10 X 3 x 10
- 3n
- 27 x 10 ‘
el 3n+l In+
3

(Total 5 marks)
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13. The diagram shows a triangular prism with a horizontal rectangular base ABCD.

AB=10cm. BC=7 cm.
M is the midpoint of AD.

The vertex T'is vertically above M.
MT=6cm.

Diagram NOT
accurately drawn

A

Calculate the size of the angle between 7B and the base ABCD.

Give your answer correct to 1 decimal place.

M AN = 3T e

M‘"L\ ﬁmlz 10"+ 3-Fz = hz.2¢

A 16 em 4 €n = [n2.2s = lo.g4¢

Lo " T
L. Tkh = Cas ()o.fﬁf

L TCRm = 29.5

................................

(Total 4 marks)

Practice test paper 2H (Set 5): Version 1.0 14



14.

T Diagram NOT

accurately drawn

26 cm

- 35cm >

The length of the rectangle is 35 cm correct to the nearest cm.
The width of the rectangle is 26 cm correct to the nearest cm.

Calculate the upper bound for the area of the rectangle.
Write down all the figures on your calculator display.

RET. T Ax ZESE

= 940.7F%

(Total 3 marks)
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15. fis a function such that

|
weds 4 =
g

(a) Find fd)

g is a function such that
gx)=+x-1 x>1

(b) Find fg(x)
Give your answer as simply as possible.

tq(x) = -P(J?:T)
- l - | [

R ol ST X141 >

"

................................

................................

(Total 3 marks)
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16. An athlete is running in a race.
The diagram shows a speed-time graph for the athlete.

A

14

12 y

NLEN
A

10

Speed ”

(m/s) 6 7.

4
i
2

A 4

f A
0 ()
0 2 4 6 8 10 12
Time (seconds)

(a) Work out an estimate for the acceleration of this athlete at 3 seconds.
AC(,CL(r;l'noh - 3rld‘l¢n’l‘ af éth—\e 35

= 44 = I.?(h{z‘

10
{.4—-0 (-4'

The athlete ran the race in 10 seconds.
The area under the graph gives the distance the athlete ran in the 10 seconds.

(b) Show that this race could have been a 100 metre race.
SP'[“‘ ra*‘b ( frk()g'zu\_ AuJ Lie éfl\.ftlluh—\ ru‘-(

Area & %[ja*z(ju*ji 4191 '4’34)—#3{]

= = [o +2(7.2+ 10.84 |2+»1)+'7j
= |[4n,]

e &'é 54 WL

Lote =~ Qb m 5o coold ke |00m race

©))
(Total 6 marks)
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17.

Rhodri is investigating the population growth of the rabbits in an enclosure.

He counted the number of rabbits at the start of month 0.
He counted the number of rabbits at the start of month 2.

Here are his results.

Month Population
0 100
2 200

The population of rabbits is increasing exponentially.

How many rabbits will there be at the start of month 5?

You must show your working.

PDAUB,“:\U Ciu(/\] Z h«p,,h'xs

So  deh Tmbati M“’%"F,‘l 53 Iz

S bk o(é montl &

Po(m\t'.)'l.oq — 140 K(/Z)r

= /C)onS/l
= §65.6&
= SL6 yablity

S- 66 rabbits

(Total 5 marks)
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Diagram NOT
accurately drawn

Ty

0

OAB is a triangle.

OAd=a

(a) Find the vector AB interms of a and b.

P is the point on AB such that AP : PB=3:2

(b) Show that OP = %(23 +3b)

I
1o
|
F oA
I »
+
A\
‘P

I
L
\»

1)
-
N
N
>

©))

(Total 4 marks)
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19.  Prove algebraically that
(2n+1)>=(2n+1) is an even number

for all positive integer values of n.
(2841 = (2n+)

Ao gedow 1 "(2"’*")
= 4w+ dn+] —20 -]
Ant + 2n

1y

- £ <2V\L*h)
\,.,L.‘Ll\ ij eJtn (of 4“ |.v14’55fer vdueﬁ o't" "~

¢inte 1B hat a Luckrs ot 2

(Total 3 marks)

T B e O S R
TOTAL FOR PAPER IS 80 MARKS
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